USLU SAYILAR

_13 20
Cevap: E 21
=10 olur.
Cevap: C
5 (DG DA o G D Mo MG DA Gl D)
) (_1)100_(_1)103 - 1‘(_1)
-1-1 _ =2
= T = _—1 = 2
Cevap: A
15-825¢ _ (3.5)8.(5%)"
= 6. 96 = 2,6
= (32)
<
z _ 3‘8.5:: 58
5 |8 L1\, S 8
3 (3*‘> ' = =383125858
_ (9+l) 3 Lg - 3—8+12.5—8+8
- 37 E =345°
- 28 3 =81
8 Cevap: B
=28
Cevap: A
4 3%+3'48% _ 143+27
©os045 52 11 1
15
(25) (5)
SCHEAE,
31 : y ) \5z) "\2x
= 25+5+1 5
25 ﬂ ﬂ L — 25 — 32
Yy BZ2X] 77
= ﬂ =3,1’ & =25
3—; El Cevap: C
Cevap: D

118




10.

11.

(O, 1 25)1000.22020

- (1) 2

1000 52020

- (3)

=< 1 >1ooo.22020

23

£2020 080
= 23000 =2
42017 | 42018

42019 + 42020

427 (1.+4) _ 420172019 _

42019 (J/M)

102+103+107% _ 10

USLU SAYILAR

12 3n+3n+2_2n+2n+1

102+10+1

253+5+253+3+256+1
25278425271 4 2521

252+1 (254 12523 1)
2533 (1 4 0527 054)

- 25a+1—a+3

= 25"
=58

3n—1 2!’1—2
_3"1+32) 2"(1+2)
3371 2122
_10_3
-1 1
3 4
=30-12
=18
Cevap: A
N, an, an, 4n) _25
13. (4" +4"+4"+4") 555
1
- ny L
=(44 ).4
472:1176 _ =4n
=
=
Cevap: D 3
P
£
S50
(5]
5
f_‘@
_4(M) — 1074 14
102410+ 1 :
cevap:A /YA\ =(-2°-37
g 1__T78
9 9
=3 - (-2)"
:9_<_l>
2
:9+l:E
2 2
_73,19_—146+171 _ 25
9 2 18 18
2 0
Cevap: D

119

Cevap: E

Cevap: B

Cevap: C




